













































































































Example in Vector For

Plane through A 4 2,0
B 3 i i

4 1,1

I in hats tr AI

f E xf iltr.fi
Cartesian Form

x 4 X

Y Z X 3h
z X t n

Equation of a plane
















































































































x t 2 4 µ

y f z 2 2h

From m x t z 4

Sus y z 2 2 x c z a

It 2 2 2x ZZ t 8

2x t g t 32 10

a ki ii kid
I Ts I E a O

e a e a o

i

e a

n X t na y t n z d

where D E I
Note the coefficients of X y and Z

give the components of a normal to the plane

Direction Perpendicular to a Plane










Ex Fae intersection of

E I tf and 5 3 2 1

E LIE
Sus in plane 5 2x x stil x

10 54 t 3 21 dit d

84 8
X 1

sus inline I I
Point of intersection l l 5

Perpendicular Distance from a Point L P 8

to plane n x t na y t n z d O

is given by n d t ne P t n Rtd

n t nitnf

Intersection of a Line and a Plane



go 0
Find the angle between

a
normals to the plane
If obfuse and asked
for acute subtract from 1800

Exercise Il F

is I t D a 9 Y
in E
Sub in plane set 2g z 3 0

4T 2X t 2 3d 3 54 3 0

off 2kt Z t 67 3 5,1 3 0

3 X G

X Z

IH Et
Intersect at P O 5 7

Angle between two planes



1
Line is I 4 tdfACA t

Find intersectiontox estates
sus in plane
4tdt2 ta 3 HttA 2 75
4 4 2 tail 34 3

64 6
Xe l

QC t

E EI I
A 2 3,5

A 4 1,3
Pa Plo 5 7

CPA Q Q i'it
7 Q

A

coscPAQ A'B AOT Ap IE
TATHAM

AI ft
oscPAQ 41 12 to

j oJit4t 256
0 78.50



Huk Exercise IIF Q 14


